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What causes the bueyant force in Fluids?
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Two pails of water, Covsider two identical pails of water filled +o the brim. Ove pail contaivs only Vs j)w 3 = l%
water, the other has a piece of wood floating in it. Which pail has the greater weight?
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RESPONSE Both pails weigh the same. Recall Archimedes’ principle: the wood
displaces a volume of water with weight edual to the weight of the wood. Some - =
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water will overflow the pail, but Archimedes’ principle tells us the spilled water \ ..Pu = \/ _‘P o
has weight equal +o the weight of the weod; so the pails have the same weight. 1?;(
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Ts the crown gold? Whew a crown of mass 14.7 kg is submerged in water, an accurate scale
reads onlj 13.4 kg. Is +the crown made of gold?
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Helium balloon. What volume V of helium is needed if a balloow is +o lift a load of 180 kg (including
the weight of the empty balloon)?
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